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Machine Tools and Operations
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Time: 3 hrs. e Max. Marks: 80
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Note: Answer FIVE full questions, ché’ﬁsm? one full question frﬁm%ﬁch module.
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ol 2. b. With the help Qg i 3 in | workmg of a centre type cylindrical grinding
Ed machine. & 9 Cn? (08 Marks)
5 :
’g § A Exp!al followmg machinin pﬁ‘égess with neat sket%le&, (i) Reaming (ii) Boring.
8 2 ; (08 Marks)
% g b. Explam the following milling gleﬂ"lods /
g z (i) Straddle milling W%ﬁ%
- (i)  End milling, - (08 Marks)
G & 1
g _§ 4 a. With sketches pﬁitaining to relative x@& ons between to d work piece, explain the
e following sha erations: )
§ 2 (i) aining horizontal swfagg
28 (i) A I\&Chmmg vertlcal
g8 iy &g ' (12 Marks)
¢ .8 (04 Marks)
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gé 5 cut 3"ng tool materials? (04 Marks)
&n o hebriefly, explain the t;gllowmg for a single point cutting tool:
%% (i) ake angle. --
g E (ii) %@%@learance angle@%
= 2 (iii) 18‘@’ rake angle.
@ : - (iv) ide relief angle. ¢ (12 Marks)
£ OR
g 6 a. Explain the effect of macHining parameters on surface finish. (06 Marks)
5 b. List the various funct%ns of a cutting fluid in metal cutting. (05 Marks)
E‘ c. Determine thef,m@;\mmg time required for machining of a work 350 mm long and 50 mm

diameter in &*ﬂﬁthe The cutting speed is 30 m/min and the feed rate is 0.4 mm per
revolutlon é : (05 Marks)
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Module-4

Briefly explain the different types of chips produce metal cutting with neat sketches.

) 09 Marks)

In an orthogonal cutting operation of a materjal With yield strength of 250 N/mm?®. The

following data is obtained: '
Rake angle of the tool = 15 degree
Uncut chip thickness = 0.25 mm %*‘“
Width of chip =2 mm N

Chip thickness ratio = 0.46

Friction angle 3 = 40 degre % *
Determine the shear angle ¢, the %&ng force component nﬁpsultant force on the tool.
‘ ) (07 Marks)

OR
Give the difference b w orthogonal cutting a ique cutting with neat sketches.
' (08 Marks)
With aid of suitable.sKetches, explain clearly thesconcepts of upmilling and down milling.
(08 Marks)
\ Module-5
Explai pes of tool wear wi c@ssary sketches. (09 Marks)
A mild steel bars of diameter 50 %are to be turned a length of 160 mm with a depth
of cu 1.5 mm, feed of 0.2 1 tools. If the tool life equatxon is

v at 230 rpm by

given, VT®*f**d*? =50 M

Determine how many cor (07 Marks)

(08 Marks)
(04 Marks)
(04 Marks)




